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N 2 # Home % B Visiting ()] TREIP o VP = ek 34,VP TR L RT:1 ~6 t44 RT:7-12 44
FE 1t % 1 i | apH | RHV | ARE | RV | iiH BV [ArH[ RV (met] e | SVP [COP| 422 [ mR| mE BVP cop
1 1 x K 8 5h & 15 15 10.00 | 10.00 82.49 60.50 4 9 1 3 | Infinity (97.25 7 2 2 2 |6547
2 2 25 7 2 & 25 15 12.97 | 7.03 65.47 64.50 7 8 2 | 10 |ToWin (89.36 8 7 2 K | 6450
3 3 Infinity 1 Epsilon 41 18 15.85 | 4.15 97.25 58.29 1 10 | 3 9 |Formosa |83.35 9 8 5h & | 60.50
4 4 pidid 9 Formosa 13 42 312 | 16.88 | 32.26 83.35 12 3 4 1 X K |8249 10 | 11 | Epsilon |58.29
5 6 L ] 10 To Win 18 24 813 | 11.87 | 54.02 89.36 1 2 5 5 W % (7600 | 4| 11 6 = M | 54.02
6 5 ® % 12 B R 38 37 10.33 | 9.67 76.00 73.01 5 6 6 12 | #® 7301 12 | 4 FERM | 32.26




